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Revising for Grade 4 in Mathematics Session 16 
Quick Quiz 
(1) Work out 772 × 8, without a calculator. (2) What is the formula for the area of a triangle? (3) Work out 5 + 6 × 1. (4) Here are the results of a survey on favourite sports. Sport No. of people Football 13 Tennis 

5 Cricket 
2 In a pie chart, what would be the angle for football? 

Review of Session 15 (1) Work out the bearings of OA and OB in this diagram. 
(2) Match the descriptions to the diagrams. 

Reminder 
For simple problems, use these three 
formulas: 

People often use this formula triangle to remember these: 
Example 
A train travels at an average speed of 
90 miles per hour. How long does it 
take to travel 315 miles? Solution 

We need to calculate the time: 

Practice Questions (1) A car is travelling at an average 
speed of 55 km per hour. How far will it travel in 4 hours? (2) On a sponsored walk, Aimee walks 21 miles in 6 hours. What 

was her average speed? State the units of the answer. (3) A cyclist travels at an average speed of 16 miles per hour.  How long does she take to cycle 
92 miles? (4) A plane is flying at a constant speed of 240 metres per second.  

What distance does it fly in  60 seconds? Give the answer in 
km. 

(5) Sound travels at 20 km per minute. What time does it take for sound to travel 5 km? 

The focus for today’s session is… Distance, speed and time 
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Revising for Grade 4 in Mathematics Session 2 

Quick Quiz 
(1) The temperature in London is 

3°C. The temperature in 
Moscow is –15°C. How much 
colder is it in Moscow than in 
London? 

(2) Write these decimals in order, 
smallest first: 

 0.021 0.21 0.012 0.12 
(3) What is the order of rotation 

symmetry of a rectangle? 
(4) What is the value of 43? 

Review of Session 1 

(1) Write down two prime numbers 
which add up to 30. 

(2) Express 120 as the product of 
prime factors. 

(3) Work out the lowest common 
multiple of 60 and 48. 

(4) What is the highest common 
factor of 42 and 70? 

(5) Write down three common 
factors of 36 and 60. 

Reminder 

To find the area of a rectangle, 
multiply the length by the width. 
The area of a shape like the one below 
can be worked out by splitting it into 
rectangles. 

Now, add the two areas together: 

Total = 24 + 20 = 44 m² 

(Remember that units of area are squared units:  m², cm² etc.) 

Practice Questions 

(1) Work out the area of these 
rectangles, giving the correct 
units in each case: 

(2) The area of this rectangle is  
36 cm². What is its height? 

(3) Work out the area of this T-
shape. 

The focus for today’s session is… 
Area 
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Revising for Grade 5 in Mathematics Session 7 
Quick Quiz 
(1) Without using a calculator, 

convert        to a percentage. 
(2) Bilal buys M kg of apples.  It costs him £C. 

Write an expression for the cost of 1 kg of apples. 
(3) Calculate the 

area of this 
circle, correct to 1 decimal 
place. 

(4) Solve the equation 
3(y + 5) = 48 

(5) Fill in the missing terms of this Fibonacci-type sequence: 
 4 ___ 15 ___ ___  

Review of Session 6 
(1) What fraction goes in the box to make this statement correct? 

(2) Work out the answers to these, without a calculator.  Give each answer in its simplest form. 

(3) What fraction goes in the box to make this statement correct? 

Reminder 
Corresponding angles are equal. (Look for ‘F’ shapes) 

Alternate angles are equal. 
(Look for ‘Z’ shapes) 

Vertically opposite angles are equal. (Look for ‘X’ shapes) 

Co-interior angles add up to 180°. (Look for ‘C’ shapes) 
(Some people use the word ‘allied’ or ‘supplementary’ instead of ‘co-interior’.) 

Practice Questions 
(1) Work out the size of each angle marked with a letter.  State which angle rule you are using. 

The focus for today’s session is… Angles and Parallel Lines 
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Revising for Grade 7 in Mathematics Session 17 
Quick Quiz 
(1) a =         and b =         . 

Work out the vector a – 2b. (2) f (x) = 15 – 2x.  Solve the equation  f (x) = 2x + 3. (3) A sequence is defined by 

Write an expression for the nth term in terms of n. (4) The numbers 1 to 5 are placed in a bag.  Two are simultaneously drawn out at random.  What is the probability that both numbers are even? 
(5) Calculate 

the area of 
this triangle. 

Review of Session 16 
(1) Work out the equation of this straight line. 

(2) 
(a) Work out the 

length AB in 
surd form. 

(b) What is the mid-point of BC? 
(c) Work out the gradient of AC. (3) Work out the equation of the straight line passing through the points ( 6 , 13 ) and ( –4 , –2 ). 

(4) What is the equation of the line perpendicular to y = 2x + 3, passing  through the point ( –4 , 1 )? 

Reminder 
The power of      means square root. e.g. 
The power of      means cube root. e.g. 
In general, the power of      means nth root. e.g. 
To work out the power of     , use the fact  that      =     × 2. 

e.g. 
 

Practice Questions 
(1) Evaluate the following: 

(a)  (b)  (c)  
(2) Work out these: 

(a)  (b)  
(c)  (d)  
(e)  (f)  
(g)  (h)  

(3) For each of these, work out the value of x: 
(a) 4x

 = 2 (b) 125x
 = 5 (c) 16x

 = 64 (d) 16x
 = 8 (e) 9x

 = 1 (f) 8x
 = 256 

The focus for today’s session is … Indices 
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Revising for Grade 5 in Mathematics Session 5 

Quick Quiz 

(1) What is the reciprocal 
of 5? 

(2) The triangle in this 
diagram is isosceles. 

Work out the angle 
marked x. 

(3) Write the value of  
3–2 as a fraction. 

(4) Calculate the area of 
this circular sector, to 3 
significant figures.  

Review of Session 4 

Ryan is a car 
dealer. 

He records the 
value and age of 
10 of his cars.  
The results are 
shown in the 
scatter graph. 

(1) One of the 
points is 
an outlier. 
Circle this point. 

(2) Describe the type of correlation shown. 

(3) Draw a line of best fit.  (Ignore the outlier.) 

(4) Another of Ryan’s cars is worth £14,000.  

Estimate the age of this car. 

(5) What is the term used to describe the 

method you used in Question (4)? 

Reminder 

Example 

15% of a school’s students are in the Sixth 

Form.  There are 138 students in the Sixth 

Form.  How many students are there in the 

school altogether? 

Solution 
One method is to use a simple table: 

(Alternative:  ÷3 to get 5%, then ×20 to get 100%.) 

Practice Questions 

(1) Karolina scores 51 marks in 
a test.  She is told this is 
equivalent to 85%.  What 
was the test out of? 

(2) Charlie is running an ultra-
marathon.  She has 
completed 40% of the race, 
and there are 21 miles left.  
What is the total length of 
the race? 

(3) 56% of employees in a 
school are part-time.  The 
rest are full-time. 

There are 140 part-time 
employees.  How many are 
full-time? 

The focus for today’s session is… 

Reverse percentages 
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Revising for Grade 7 in Mathematics Session 8 
Quick Quiz 
(1) Work out                  in its simplest form. 
(2) The point ( 2 , k ) lies on the  straight line  2x + 3y = 1.  What is  the value of k? 

(3) On Diagram 1 on the Answer Sheet, two points A and B are marked on a co-ordinate grid.  What is the equation of the straight line joining A and B? (4) Two similar triangles, S and T, are shown in Diagram 2.  Their perimeters are shown.  Find the scale factor of the enlargement from S to T. 
(5) Simplify the expression             . (6) b is an acute angle.  sin (b) = 0.6.  Work out b to 1 decimal place. 

Review of Session 7 
(1) Here is a 

cuboid. 
Calculate angle RWT, to one 
decimal place. 

(2) The diagram shows a prism whose cross-section is a right-angled triangle. 

Angle NMO = 17°.  Calculate the length PM, in m, to 2 d.p. 

Reminder 
Quadratic expressions can be written in different ways.  One way is to complete the square. 

For example, with   x2 – 8x + 21:  x2 – 8x + 21 = (x – 4)2 – 16 + 21 
 = (x – 4)2 + 5 Example 
Solve the equation   x2 + 6x + 7 = 0 . Solution 
 (x + 3)2 – 2 = 0 
So (x + 3)2 = 2 
 x + 3 = ±  x =  –3 ±  

Practice Questions 
(1) Complete the square for: (a) x2 + 4x + 10 (b) a2 – 2a – 2 

(c) t 
2 + 10t + 40 (d) n2 + 8n – 1 

(e) y2 + 3y + 5 
(2) Solve these equations by completing the square: (a) x2 + 2x – 6 = 0 (b) h2 – 4h + 2 = 0 (c) m2 + 20m + 70 = 0 (d) w2 – 6w = 1 

(3) Describe what happens when you solve the  equation x2 + 8x + 20 = 0. 

The focus for today’s session is … Quadratic graphs and circles 

 
 

 

2.4 m 

4.5 m 
M 

L 

K 

N 

O 

P 

T 

S 

P 

R 

Q 

W 

V 
U 12 cm 

9 cm 

19 
cm 

(x – 4)2 = x2 – 8x + 16 

2  
2  

(x + 3)2 = x2 + 6x + 9 

Must include  positive and negative square roots 

Equivalent to  x2 – 8x + 21, 
but written in a 
different way 

3 3 
4 1 5 

6 
– 

 5 (2     )2 

©
 2

0
2

0
 H

e
rt

s 
fo

r 
Le

ar
n

in
g

 
© 2020 Herts for Learning 

Revising for Grade 6 in Mathematics Session 8 
Quick Quiz 
(1) Simplify this expression: 

(2) Write                  as a single 
fraction, in its simplest form. 

(3) What is the area 
of this circle, in  
terms of ? 

(4) Solve the equation  
x2 – 6x + 8 = 0 

(5) a = 5.6, correct to 1 decimal place. 
b = 12, to the nearest whole number. 
What is the upper bound for ab? 

Review of Session 7 
(1) Calculate lengths a, b and c in these triangles. 

(2) The diagram below shows a rectangular logo. 
BDF and EDC are straight lines.  Angle DBC is a right-angle. 

(a) Work out the length EF. (b) Calculate angle GCD. 

Reminder 
Take care when substituting negative values of x. 
Example 
Calculate x3 + 4x2 – 3x when x = –3. Solution 
  x3 + 4x2 – 3x  = (–3)3 + 4 × (–3)2 – 3 × (–3) 

 = (–27) + 36 – (–9)  = 18 

Practice Questions 
(1) Draw the graph of y = x2 – 3x – 1, for –2 ≤ x ≤ 4. 

Use the table and graph paper in Diagram 1 on the Answer Sheet. (2) Draw the graph of y = x3 – 4x, for  –3 ≤ x ≤ 3.  Use the table and graph paper in Diagram 2. 
(3) (a) Draw the graph of y =     , for  

    ≤ x ≤ 6.  Use the table and 
graph paper in Diagram 3. 

(b) Complete the table of values in Diagram 4 (for the same equation).  Add these points to the graph in Diagram 3. 

The focus for today’s session is … Recognising and using graphs 
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